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20109

PHILOSOPHY
( General )

Paper : 5.1

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

ot wete frarcaree Tes frm

(a) What is the yardstick of truth according to
the Pragmatic theory of truth?

fod BARIAEl FEqm PR Terer Mol
&2

(b) Choose the correct alternative :
w7 Reuce f Sfrear :

The supporters of the coherence theory are
idealist / realist.

FeafSqme ST (2R ORAM / IR |
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(c)

(d)

(e)

b7}

(g)

20A/143

(2)

Name the theory of truth which admits the
degrees of truth.

ForeR W TR F91 O] TR IO
1 for=n |

Choose the correct alternative :

% Reacer qfc Sferear :

Spinoza’s theory of substance is known as
polytheism / pantheism / monotheism.
PoeN Troge WM [ TdAEm
GCPEE e ST I |

How many categories of knowledge are
there according to Aristotle?

GRBTR We W R A AIRR
PRI ?

Mention any one characteristic of Time.

IR R @ «or A%y Seae 7491 |

““Space and Time are empirically real but
transcendentally ideal.”” Who is associated
with this statement?

“opr wE I SfdwenER fRied IR 5%
JOIRAed SRS 1 SIfee 1”7 @3 SRR
o1 How TRFIRIF @1 2

( Continued )

(h)

(i)

0)

20A/143

(3)

Which theory of meaning is associated with
elimination of metaphysics?

SRR ST S (@l AR oF wive
Cz IR ?

Is determinism a doctrine of universal
causation?

Rafeam MiT FRTOR™ 2 ?

Which of the following statements is
correct?

o9 (I O w7 2

(i) Existentialists think that life can be
known completely by reason.

SRR i@ @ ol @A e
o) wifaq +fif{ |

(i) Existentialists think that life cannot be
known completely by reason.

SR¥ERTRE O @ @I 7@ G
sopef Wi TR |

(iii) Existentialism supports naturalism.

SREGAICT 2FSAMR SNL ¢ |
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(4) (S)

2. Briefly answer the following questions : 2x5=10 (b) Write a short note on ‘Russellian

T NPT 5 Ted o=y correspondence theory of truth’ or ‘logical
theory of correspondence’.
(a) Briefly explain any one defect or criticism of

correspondence theory of truth. STerel [RF JcRA AP A SR
STepel FFT APIEN A TSR g R T SFIOR Yfem’ REcw o1 vy G fera o

CRICAT BT C77 91 ST G 17T 3947 | . _ o
(c) Briefly explain the rationalist view on Space

(b) What is truth, according to Locke? and time.
ST (S 9] [ ?
® o ¥ ST e ST AT TS0 S AN
(c) What do you mean by category of SN
knowledge?
W 29s q1 2 I T2 ~ (d) Briefly explain the psychological argument
in favour of determinism.
(d) What is conceptual Space?
QAT 7 T R 7 frafeama s <1 seTiaentae e [ vy
IR HORCHIET |
(e) What do you mean by fatalism?
@A feice & g 2 (e) Write a short note on Mill’s view of
causality.
3. Answer any four of the following questions :
g &4 Sl FRSREES fierg 1o ey «fb v G fora o
O PR R e wife e fra - (f) How does A. J. Ayer draw the distinction
crifgxion of fryth, Q. (%, ST R S S G ST
STOR F0 A AP W Wee 1 A=_rweF R &S A19 GraEe 2

a1 5 o ot
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(6) (7)

4. Explain and examine the coherence theory of 7. Discuss briefly any five general characteristics of
truth. 10 existentialism. 2x5=10
STererd Sesifeam wgrdt T IR AR FA1 | ST R CAREPR R e veR Raca 5y

Or / Sl SIS SIAFCOEI |
Explain and examine the pragmatic theory of Or / 5347
truth. Discuss the salient features of logical positivism. 10
FeTor BocAael wgch il FfR AR 7 | S SO Yo CABPIR SCAOA 41 |
5. Are Space and Time subjective or objective?
. * ok k
Discuss. 10
C S Fle] SRS (7 IBNS ? HCHAGAT 4T | 4
Or /5211

Explain Descartes’ view of substance.
CTFIOR T =T TS 101 41 |

6. What is indeterminism? Give four arguments
against indeterminism or freedom of will. ~ 2+8=10

sfafeam @ FegRm o wfafm a1 TmE
AR Reicw o101 3% S5RCERT |

Or / 5231

Write an essay on self-determinism. 10

- ferggeram 1 3-famgeanE e @3 5 fosn
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PHILOSOPHY
( General )

Paper : 5.2

( Indian Philosophy—II )

Full Marks : 80

Time: 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following / Choose the correct
answer : - 1x10=10

e R Tet o/ wam UeIcn A
Tferear :

(a) What are the stages of perception
recognized by Nyaya Philosophy?

TR R E Fige Aorwd oRfEceen 2
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. (3)
(b) How many Eapataemis are i) Yoga (h) Who is the author of Vedantasutra?
philosophy?
‘@’ o @ 2
ot fers femiat! fPegf =g ?
3 ) Samkh hilosophy i istic /
(c) Name the Astika Dar$ana propounded by o Sam. Aya P 0§0[.3 oo
. Y dualistic / pluralistic.
Rsi Kanada.
g |
% IS b 71 S O T 2 i i
(d) Who was the founder of Samkhya () What is the main text of VaiSesika
philosophy? system?
221 fe7a 2fdeRe (T wifeE 2 Ao wfd e e A 2
(e) What is the other name of Vedanta School
of Philosophy? 2. B\;;;ﬂf;;t answers : 2x5=10
@G T S o1 7 2
(a) What is the meaning of Yoga according to
(f) What is the meaning of the term “Veda’? Patanjali?
PP S rogfer We ‘@I =Y %2
(g) In Samkhya philosophy, is Purusa (b) What are the five physical elements
conscious or consciousness? recognized by Vai§esika philosophy?
gL TS T oA (7 (5| ? A T TLER I AETS (FIACR0! ?
aicid o ( Continued ) 20A/144 ( Turn Over )




‘¥ ) (5)

(c) Which of the Substances are considered (c) Write a short note on proofs for the
as material by VaiSesika philosophy? existence of Prakrti.
(oS P PR T TS o oFfer Sf¥gT o ke @B Y G
T R ? U
(d) Define inference according to Nyaya
philosophy. (d) How many Vrttis (modifications) are
TR S S RS 4 involved with the Citta and what are they?
(e) Why is Sankara’s philosophy called o #re WDl 36 SeR AR =R AT
‘Advaita’? CiReRD! 5 5 2
9] e [0 wiae” el (R = 2
(e) Explain the differences between Nyaya
3. Answer the following questions (any four) : inference and inference in Western Logic.
5x%4=20
wers faal TR e fir (R e wif¥dn) T A AF PO SIS A

) ! R TES A AR A
(a) Explain briefly the Satkaryavada of

Samkhya philosophy.

Q) W IIRAM TSAMB! BT A
91 Answer the following questions : 10x4=40

(b) How Nyaya philosophy explained O PR T o

3 a by 1(?
SERROrdinany g ICcpian - 4. Explain Samkhya theory of Evolution.

T T FEE e gorm el 122y w9 [Radas o I 9 |
Ffafes 2
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(6)

Or / 9941

Explain briefly the Nyaya theory of Perception.
TRA ASFFe GGl YT W 4 |

. Explain Vai$esika theory of Substance.

CIfaa Ty SGCo! AN 941 |

Or / 9931

What is non-existence? Explain the different

classification of non-existence.

[ed WA 3 2 wora [{feq ©HiE@E s 34 |

. Explain Sankara’s concepts of Brahman and

World.
PR T S GSq LRAAPTR A0 41 |

Or / 9241

Is World unreal according to Sankara? Explain
it in terms of Maya.

*eHAHRE TCO TOroe R 2 TR = fe TS
T 4 |

( Continued ) 20A—15*/144

(5.

7. Write an essay on Sankara’s concept of Maya.

¥34q AR 4K So[F® @2+ Io+7 fo12 |

Or / 9441

Discuss Ramanuja’s criticism of Sankara’s
concept of Maya.

PR TR 4RI S[{C  JEFET AL
SISO |
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